CHAPTER 22 REVIEW

1.  _________________________________________________ was the first country to industrialize.
2. Other nations were able to catch up and challenge their supremacy.  

    How?  Give 2 different reasons. 
      1.

      2.
3. Which 2 countries became the new industrial leaders?

    1.                                                                   2.

4. Why did some nations industrialize slowly?

     1.

     2.

5. Three different examples of social change or impact due to the Industrial Revolution

  1.
  2.

  3.

6. Identical components that could be used in place of one another
      _________________________________________________________________
7. What new method of production was used during the 2nd Industrial Revolution?
      _________________________________________________________________
8. Explain this new method of production.
      _________________________________________________________________
      _________________________________________________________________
9. Why was this new method used?  What were the effects?
      _________________________________________________________________
      _________________________________________________________________
10. The symbol of the 1st Industrial Revolution was ________________________________________________.
       What became the symbol of the 2nd Industrial Revolution? ____________________________
11. Give 2 reasons why this natural resource was better than iron.

      _____________________________________________________________________________
      _____________________________________________________________________________
12. What resource replaced steam as the power source of the 2nd Industrial Revolution?
      ____________________________________________________________________________
13. What effect did this new power source have on industrial society?
       ____________________________________________________________________________
14. What invention made the automobile possible?
       ____________________________________________________________________________
15. What method of production made affordable cars possible?
       ____________________________________________________________________________
16. What company and country were responsible for the first affordable cars?
       ____________________________________________________________________________
17. This invention in communication could send coded messages over wires by means of electricity?
      _____________________________________________________________________________
18. Why were new ways of organizing businesses developed?
       ___________________________________________________________________________
19. Shares in a company are called
      ____________________________________________________________________________
20. A business owned by many investors is called
      ____________________________________________________________________________
21.Huge corporation that controls an entire industry or area of the economy is called
      ____________________________________________________________________________
22. Positive effect of big business

      _____________________________________________________________________________
23. Negative effect of big business

     _____________________________________________________________________________
24. Darwin believed that all forms of life __________________ into their present state over millions of years.

25. Applying the theory of survival of the fittest to war and economic competition is called _____________________________.
26. Why did Darwin’s theory cause controversy among Christians?
____________________________________________________________________________________________________________________________________________________________________________
Chapter 22 Review Sheet Answers

1. Britain

2. 

    1.Had an abundant supply of natural resources

    2. Could follow Britain’s lead

3.

     1. U.S.

    2. Germany

4. 

    1. Lacked natural resources needed

    2. Lacked capital needed to invest in industrialization

    3. Political and/or social instability

5. 

    1. Rapid urbanization

    2. Long work days and very dangerous conditions 

    3. Factories produced huge quantities of new goods at lower prices

    4. Demand for the new affordable goods ( created jobs
    5. Politics changed

          -industrial work force starting to demand change like higher wages and better working conditions

6. interchangeable parts

7. assembly line
8. workers on an assembly line add parts to a product that moves along a belt from on work station to the next

9. made production faster and cheaper( product is more affordable

10. coal
      steel

11. Steel was lighter, stronger, and more durable than iron
12. electricity

13. Factories could stay open after dark(working the night shift
14. gas powered internal combustion engine

15. the assembly line

16. Ford-U.S.

17. telegraph
18. To develop and afford new technology large amounts of money was needed

19. stock

20. corporation

21. monopoly

22. creates jobs 

23. destroys competition   

24. evolved

25. social Darwinism

26. conflicts with the teachings of the Bible which says God created the world and all its creatures

